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GRADE 10 ESSENTIAL "7 Name:

QUIZ WEEK 3 - 23-09-21 Date:

Instructions: (standard instructions)

Closed Book. Use your single sheet course reference notes
‘cheat sheet' that you are preparing. Use mine for now.
Show work for best mark.

Unit Conversion factors have been provided.

Round decimal answers to the nearest hundredth (0.01)

Each individual question is worth two marks unless otherwise
Indicated.

Tick here: [ if you read these instructions (one mark)

F



1. Debiis 24 years old. She works 30 hours a week while in College. Her
rate of pay is $16.50/hour. She had 25 hours of regular pay and 5 hours of
overtime pay at ‘time and a half'. She earned a commission of 5% of the
$2.600 worth of items she sold this week. Her cat is 6 months old.

She pays 8% of her Taxable Income to the Federal Government and 12%
to the Provincial Government.

She has $25/week put into a Registered Retirement Saving Plan (RRSP)
by her payroll department which is untaxed. She pays 4.95% of her gross
pay into the government retirement plan (CPP). And she has 1.89% of her
gross deducted for Employment Insurance (El).

She pays $12 a week for parking that is deducted from her pay.

Calculate her Net Pay by completing a Net Pay Template. (10 marks)
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1. Debiis 24 years old. She works 30 hours a week while in College. Her
rate of pay is $16.50/hour. She had 25 hours of regular pay and 5 hours of
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She pays 8% of her Taxable Income to the Federal Government and 12%

to the Provincial Government. ft h-' f ‘:M g 5

She has $25/week put into a Registered Retirement Saving Plan (RRSP)
by her payroll department which is untaxed. She pays 4.95% of her gross
pay into the government retirement plan (CPP). And she has 1.89% of her
gross deducted for Employment Insurance (EI).

She pays $12 a week for parking that is deducted from her pay.

Calculate her Net Pay by completing a Net Pay Template. {10 marks) -
! & rnﬁ-ulﬁ.

Regular Pay Regulur = ﬁ 413 .50 | L 8L A e 25 e
O/T Pay 2 ¥1324s (2165015 ) 5 hv

CommiSsion (% of sales) )30, 6oF Aao * 2,600

GROSS INCOME =| G66.a5| Gnress

Non-Taxable Deductions {:

- RRSP Contribution 52520 | T4 o seve 325/ b 48 yeurs

woulef hive

— Union Dues - ,® $200,000 whea yedive!
.| . D : If k f
- Company Pension - 0,0 government. that has a company

pension plan that is another pot of

Contribution "

TAXABLE INCOME=__ 1 641.25 '




TAXABLE INCOME = |(Z§l§§2| F\

Income Taxes J:

——THXES l‘l"l’j\v‘in(j‘iﬂl @ 4&% Tax rate(s) X Taxable Income
~Taxes Federal @ 3. % *128.28] A%pp ¢ 641.35
Taxable deductions{ ~ It

~CPP Contribution %

% of Gross Inmme Lf,, S'/oo 4(' gg

% of Gross Income

8°1/fon * C&.35

~El Contribution %

~Parking

~Coffee Fund

~Charity Donation

Total Income Tax and Taxable
deductions

NET PAY. L4sS 4o Konih? Bi-Weekly?
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2. Allyssa worked the following hours last week:

M ¥ W Th B SA Su
8 6 10 0 10 8 5

Her regular rate of pay is $14.25 / hour. She gets overtime rate of pay of
‘time-and-a-half', 1.5 times her regular pay, after 8 hours in any day.

Calculate Allyssa's Gross Pay for the week. (4 marks}s
m T w Th F’ o Su

”\u,, a-‘_-. c g 0 8 8 57 43 regular hours
il o0 A 0 O Y pyerfu.nf_hmﬂ'

R 1!‘# AS/hr Y3 hr * 1’6!9.-?;
0/2;

Freaspne1.5) o 15%% oo

Tncome
Allyssa's Gross weekly pay is $698.25



3. Convert the following (use the unit factor method preferably):

a. 7.3 kilometres [km] = _X metres [m]

b. 750 milligrams [mg] =

Proportwhs

UN_'J:_T rmt e
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Unit Factor
Method
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3. Convert the following (use the unit factor method preferably):

c. 68inchesinj= & ft B in

5 Ieﬂr

d. Terry is exactly 23 years old. How many seconds has she lived so
far?

c) 6Ain ( ; pc)‘ = 5Pt cnd 8 in 7

A tn , 12966
I 5Pt g 260
o 3 f O i
- II I II ]I J, Jlaé‘lll C8in = 5 uhele f“,‘t L 1 oler
're 0 ! 3 3 4 g cwdh & inches Ie,c'& ovVer
) If lots of conversions, justuse the Conversion Factor Method
. xg 9"" h QJ Sec.
Mpaea (¥ ) () (Ep) - (s
= 23365246060 :\,:032%000 Seands)

Seven Hundred TWenty Five Million, Three Hundred Twenty Eight
Thousand
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4. Solve the proportions for the unknown

amount: “Todgte” the urml’\hnwh
_8_n
| 53 32 Check!

BN “ato vmas i

Y Cross- mulfulo !&

0% _ , _‘;l_‘_\= ’7"8‘/

8 14 o
C.S—x (Hint: ép)

%

x'—ifE

Check!?

?

Sy =% 91’5
-:l'" = }0 VYL‘S

b i " "Cross Mu|‘f.113‘3,

12 V6
® 30 e
1/

9

Check: ? .,
Sef = 13218
“ = 36 v YE_:.

d. If 5 bananas cost $7, then
calculate how much 22
bananas will cost? \,

$x

1\ LSGLATE
5 b.h:.ﬂ“-": A ban 4nes The X

Sbﬂh‘hﬁh

[X = ;w.ﬁgl 'PO"" 12 bonanes

33 =6 1.V B Sound s cbodd H-al"tl-




5. Problem Solving. Mike has four friends. His mom says he is allowed

to invite over only three of the four for a party. Determine how many
different groups of friends Mike can possibly invite. [Hint. make a list]

T:?'Lﬂﬂd,s: A Bﬂ SEILC:L U—.,__alruu-,’) 0'p 'tlﬂl"Eﬁ
ABC WT AR C D
ABD IR I - v VvV v x ABC
IS . UL
? vV V x v AR
st Lo
%?D st o vV XV v R0
\/ \/ Bcd
Lc,%i.c_? Hnuqua WoYS Cohy o v /m\
.aLu:-N@ out one LtnoA Lfd.':-“uc.n‘t'
A select | =g ways . oalr-oL..Fs
3 select 1 = Jueys  ABC

See a pattern, see a method
AB B Ac YOu like, have you a different
Ql: D D way to solve?
D There's a button on your calculator does this btw

“+ select 37 q""""-'a""
5 v ¢ = §
G seleet S =6
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' ' 6. State the measure
@} (@4 | indicated by
A et Tirram
) 'y
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Bonus wueslons

Determine the sum (ie: add them all up) of all the counting numbers from

1 to 30. D(_me f:ln:.s
Patl;eru a few
|+ +34pretc+ 2B4+0G+ 30 Lomes)
, | +20 =31 , See a 27
T+ 20 =3 '
3113 = 3 p E‘&er: '
{ ol MGh 3' S
cf we pocy Up the P
& o hone, Lh -
| +24T+4HSHE+T+E+ ouk sides b hing L
A+1A+11+12+13+14 /
+15+1E+17+18+159+ ) =
ZA+Z21+22+23+24+2 5= joﬂ_
o+ 2e+27+28+29+34

463
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Manually Multiply: Show work using e ok HE Q’fc’e

the standard algorithm _be |
215068200
27 x 85 = ¥
+3 a Jé
3 X 6
58 | .90
—|:|)5 ‘ I’J-Cfo_ﬂ
%5 |+ IEN
485 [141.9]

Sort of criticalskill, really,doing these manually. Someday
your nephewor your kid willask you!!

See your teacherif you want some extra study
packages (after you learn your times tables)



Manually Divide: Show work using
the standard algorithm.

350+ 14 )
147350
Al - &3 Jﬁ
30
L& < -30
£ 0 remaineler
= % CLCM&I
350 T {¥= A5

15
C’lne.c,,& l. i"___li»

\D9

v

YULL hnc--a Wenl

to Qecwn Ehis
Some olay /



Simplify (M Il Iculator):
implify (Manua yzcacuao?_

2 4 T | :
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That s it!

A quick quiz on the first two and a half weeks (two
and five tenths, 2.5) of classes.

A bit of problem solving by some type of thinking...

A bit of throwback to Middle School fractions for
bonus points just to see who may want to refresh
fractions since they are rather easy if you draw
them (and if you know the times tables)

Nail down times tables though! An important project
for the next two weekends! e

£



Or maybe you were
LN\ €N\ sort of thinking like

Y _\L 1 this?
D

Even if you did not guess the answer,
trying is a good step forward!



